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Q.A. Step.1.  Varables —= X = Numbew cof dam  trockar
Y = Number of Nate tvactors

Step 2. Restrictims - X& Y both ave wihole. numbers — X, Ve w

Step. 3. lheﬁuq\{tia_g = X+Y 20
X=Y »5

Step. L. Glraph  beth Lhe inequalities {-al\ominj the Process exploimed
m 6.2 (By ol‘e.-tﬁr Mir{mdﬂ X& Y lbnt{_r(’;ca[;t«s; tor eoclh I e_ciqqllttf)
(And by tes S whieh g plane IS The Solution tet)

N 71)("\/:.5

e Sl ok Set

/7 “; C X“P‘/:lm

Step. 5. Imterpretativn — Each Point (Wibh uihale number Co-ordinekes)n £he
Bolution Sel {3 4 Solwwow. Py example, the pont
Clu,8) (& (n bhee Solubion St w Sk MEAnS  Cam pany
Com  melte. \O Adam. Lvackors omd & Nake kvaclws.



W-2. S{:&F"‘ﬂ VQ\('IQ)-’\’QS > X = Numbey Og‘ Y’&C'\v\a Cay$
Yo Mumbyer 0% \nC‘JYt ‘J"r:\ |”igp‘ \/(l\\(\.es
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step. 2. Restrichons - X& Y both Qre whele mumberc = XX Y ew

Skep. b, In equalities — X ¢ Yo ( No wove. 4han Lig roacing cars)
Y S 60 ( Ns wove than 6o Sharts Vehicles)
X+Y > o ( Can make. 7o OY move. vel'cles Ml toge-ther )
Skep. b, Grraph -all three lﬁmuq\{-biﬁy%\\nwv% The Process explained
\I"\ Ql_ 7o 4 g .
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The vegion Lihere 8l thrae mequalities overtap , That s thhe SalubionSets

steps. I’\Lﬂe,r?m_tq{;,{on -3 Ak \}m‘m'\i (AR Uahole. Number Co-or dinakes ) b
Solibion sek 13 Q4 Solbion « By example, The paint (10,80)
6 @ Selubion ~ $£ meani Company Cow o \ra«c'\v\a Cavy
and by Sputy vahicles.



€3 Step. L. Vaviabley - X = Numbey of School fviewds

N
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Nuwbar ot Voila*fbmff fvigvels

thep2. Restricingw ¢ es X ¥ obobh ares wihole numberg « X AYaw/

Step 3. Iw e;a‘qu@-\it:q‘a,g - X 520 (AL leewt 20 Sches! $1erde )
y \S 16 { No wwve. thay \o V"a!is%:l!bm\l 'FYII&’M‘S)
Kot Y €30 ( Mo weve. thaw %o friends all “\tbgﬁ“ﬁ"kﬂf)

Seap i, Gwcgr\q the iweﬁt«:{ Wies.

7‘/&, /\-,

Step. S Drterpratation-» Trish coav Pave @y Combmation of friends that falls 1n
The Solubion Set . For -@,chm\zle, , the ‘?t\iwt (,Z.Ogln) 18
fn The  Soly o Sek, Chavagtorg. Can b2 One of  lha
Covabi viati Ong |



QM. See canswer for #6 (PR3
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Q1. Skep. 1. Variables - Xz number ¢f Coanadan Sengs
}' =~ Auwmbey ts*"% Ama riCan %o h&..ﬁ

skep.2. Restvictions = XA ¥ Bobh ave amle numbers => X & y&W

Skep 3 Lnequalities -3 X &\a (Io or feuar Canadian Samgs)
Y s (18 or move. Amevicay Sengs)
K4+ Y £ Yo (Mo o fownar Songs, v tetal)

Sbep i, Qraph twe Solution Set, -g Ta o
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Step 3. \Teﬂt C represents the Cost
The thiective. fumcbion (§

C = §Lss)X + ($15)Y

Step. £, The Bolubion region has four Vertices  (0445), (o,H0), e 18), (o, 80)
e CUD > L018) | T8 0L = (o) | T DUP- 0n1%) | TH (G -5 Gn,30)
C =15 (0) +4.1)(18)

| G = 1S+ .28 Cz 1% - 22.8
TR C= $30 R YN C =$37.50

Step . Josh Can minimize the Cost 4o BIL 28 by downlsading zevo
Conadian Somfé and 18 Amey can SeniS And waaxiwmite eoit

ko $ 31.50 5‘{ d%wwﬁg&&im& 19 Coanadion Ond B Amgy asn
;%m'ag.



